



## On a Subclass of Meromorphic Multivalent Functions

Waggas Galib Atshan, Enaam Hadi Abd

<sup>1</sup>Department of Mathematics, College of Computer Science and Mathematics, University of Al-Qadisiya, Diwaniya-Iraq.

<sup>2</sup>Department of Computer, College of Science, University of Kerbala, Kerbala-Iraq.

<sup>3</sup>Department of Mathematics, College of Science, University of Baghdad, Baghdad-Iraq.

### Abstract.

In this paper, we introduce a new class of meromorphic multivalent functions in the punctured unit disc  $U^* = \{z \in \mathbb{C}: 0 < |z| < 1\}$ . We obtain various results including coefficients inequality, convex set, radius of starlikeness and convexity,  $\delta$ -neighborhoods, arithmetic mean and extreme points.

### Keywords:

meromorphic multivalent function; starlike function;  $\delta$ -neighborhoods; arithmetic mean.

### AMS Subject Classification :

30C45.



## Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN MATHEMATICS

Vol .11, No.6

[www.cirjam.com](http://www.cirjam.com) , [editorjam@gmail.com](mailto:editorjam@gmail.com)



### 1. INTRODUCTION

Let  $\Sigma_{p,\alpha}$  be the class of functions of the form :

$$f(z) = \frac{1}{z^{p+\alpha}} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}, \quad (p \in \mathbb{N}, \alpha \geq 0) \tag{1}$$

are analytic and meromorphic multivalent in the punctured unit disc  $U^* = \{z \in \mathbb{C} : 0 < |z| < 1\}$ .

Consider a subclass  $H^*$  of the class  $\Sigma_{p,\alpha}$  consisting functions of the form :

$$f(z) = \frac{1}{z^{p+\alpha}} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}, \quad (a_k \geq 0, p \in \mathbb{N}) \tag{2}$$

The convolution (or Hadamard Product) of two functions,  $f$  is given by (2) and

$$g(z) = \frac{1}{z^{p+\alpha}} + \sum_{k=1-\alpha}^{\infty} b_k z^{k+p}, \quad (b_k \geq 0, p \in \mathbb{N}) \tag{3}$$

is defined by

$$(f * g)(z) = \frac{1}{z^{p+\alpha}} + \sum_{k=1-\alpha}^{\infty} a_k b_k z^{k+p}, \quad (p \in \mathbb{N}, \alpha \geq 0)$$

#### Definition(1):

Let  $f \in H^*$  be given by (2), the class  $H(p, \alpha, \beta, \mu)$  is defined by

$$H(p, \alpha, \beta, \mu) = \left\{ f \in H^* : \left| \frac{z(f(z))' - (1 - \beta)(f(z))}{z(f(z)) - \beta(f(z))} + 1 \right| < \mu, \quad \alpha \geq 0, 0 < \beta \leq 1, 0 < \mu \leq \frac{1}{p + \alpha} \right\} \tag{4}$$

### 2-Coefficient Bounds:

In the following theorem, we obtain the sufficient and necessary condition to be the function  $f$  in the class  $H(p, \alpha, \beta, \mu)$ .

#### Theorem(2.1):

Let  $f \in H^*$ . Then the function  $f \in H(p, \alpha, \beta, \mu)$  if and only if

$$\sum_{k=1-\alpha}^{\infty} [(k + p)(2 - \mu) - \mu\beta + 1] a_k \leq (p + \alpha)(2 - \mu) + \mu\beta - 1, \tag{5}$$

#### Proof :

Let  $f \in H(p, \alpha, \beta, \mu)$ . Then

$$\begin{aligned} & \left| \frac{z(f(z))' + (1 - \beta)(f(z))}{z(f(z)) + \beta(f(z))} + 1 \right| = \left| \frac{z(f(z))' + (1 - \beta)(f(z)) + z(f(z))' + \beta(f(z))}{z(f(z)) + \beta(f(z))} \right| \\ &= \left| \frac{2z[z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}]' + (1 - \beta)[z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}] + \beta[z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}]}{z[z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}] + \beta[z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}]} \right| \\ &= \left| \frac{-2(p + \alpha)z^{-(p+\alpha)} + 2 \sum_{k=1-\alpha}^{\infty} (k + p)a_k z^{k+p} + (1 - \beta)z^{-(p+\alpha)} + (1 - \beta) \sum_{k=1-\alpha}^{\infty} a_k z^{k+p} + \beta z^{-(p+\alpha)} + \beta \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}}{-(p + \alpha)z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} (k + p)a_k z^{k+p} + \beta z^{-(p+\alpha)} + \beta \sum_{k=1-\alpha}^{\infty} a_k z^{k+p}} \right| \\ &= \left| \frac{[-2(p + \alpha) + [(1 - \beta) + \beta]]z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [2(k + p) + [(1 - \beta) + \beta]]a_k z^{k+p}}{[-(p + \alpha) + \beta]z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [(k + p) + \beta]a_k z^{k+p}} \right| < \mu. \end{aligned}$$

Since  $|\operatorname{Re}(z)| \leq |z|$  for all  $z$ , we have

$$\operatorname{Re} \left\{ \frac{[-2(p + \alpha) + [(1 - \beta) + \beta]]z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [2(k + p) + [(1 - \beta) + \beta]]a_k z^{k+p}}{[-(p + \alpha) + \beta]z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [(k + p) + \beta]a_k z^{k+p}} \right\} < \mu.$$

If we choose  $z$  to be real and let  $z \rightarrow 1^-$ , then

$$\sum_{k=1-\alpha}^{\infty} [(k + p)(2 - \mu) - \mu\beta + 1] a_k \leq (p + \alpha)(2 - \mu) + \mu\beta - 1$$



Conversely, assume the inequality (5) holds true and  $|z| = 1$ , then, we obtain

$$\begin{aligned} & \left| z(f(z))' + (1 - \beta)(f(z)) + z(f(z))' + \beta(f(z)) \right| - \mu \left| z(f(z))' + \beta(f(z)) \right| \\ &= \left| -2(p + \alpha)z^{-(p+\alpha)} + 2 \sum_{k=1-\alpha}^{\infty} (k + p)a_k z^{k+p} + (1 - \beta)z^{-(p+\alpha)} + (1 - \beta) \sum_{k=1-\alpha}^{\infty} a_k z^{k+p} + \beta z^{-(p+\alpha)} + \beta \sum_{k=1-\alpha}^{\infty} a_k z^{k+p} \right| - \\ & \quad \left| \mu \left[ -(p + \alpha)z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} (k + p)a_k z^{k+p} + \beta z^{-(p+\alpha)} + \beta \sum_{k=1-\alpha}^{\infty} a_k z^{k+p} \right] \right| \\ &= \left| \left[ -2(p + \alpha) + [(1 - \beta) + \beta] \right] z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [2(k + p) + [(1 - \beta) + \beta]] a_k z^{k+p} \right| - \mu \left| \left[ -(p + \alpha) + \beta \right] z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [(k + p) + \beta] a_k z^{k+p} \right| \\ &\leq [1 - 2(p + \alpha)] + \sum_{k=1-\alpha}^{\infty} [2(k + p) + 1] a_k + \mu(p + \alpha) - \mu\beta - \mu \sum_{k=1-\alpha}^{\infty} [(k + p) + \beta] a_k \\ &= \sum_{k=1-\alpha}^{\infty} [(k + p)(2 - \mu) - \mu\beta + 1] a_k - (p + \alpha)(2 - \mu) - \mu\beta + 1 \leq 0, \end{aligned}$$

by hypothesis .

Then by Maximum modulus Theorem, we have  $f \in H(p, \alpha, \beta, \mu)$ .  $\square$

**Corollary(2.2):**

Let  $f \in H(p, \alpha, \beta, \mu)$ . Then

$$a_k \leq \frac{(p + \alpha)(2 - \mu) + \mu\beta - 1}{(k + p)(2 - \mu) - \mu\beta + 1}, \quad k \geq 1 - \alpha .$$

**3- Convex set**

**Theorem(3.1):**

The class  $H(p, \alpha, \beta, \mu)$  is convex set .

**Proof:**

Let  $f$  and  $g$  be the arbitrary elements of the class  $H(p, \alpha, \beta, \mu)$ . Then for every  $e$  ( $0 \leq e \leq 1$ ), we show that  $(1 - e)f(z) + eg(z) \in H(p, \alpha, \beta, \mu)$ .

Thus, we have

$$(1 - e)f(z) + eg(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} [(1 - e)a_k + eb_k],$$

and

$$\begin{aligned} & \sum_{k=1-\alpha}^{\infty} \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} [(1 - e)a_k + eb_k] \\ &= (1 - e) \sum_{k=1-\alpha}^{\infty} \left[ \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} \right] a_k + e \sum_{k=1-\alpha}^{\infty} \left[ \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} \right] b_k \leq 1 \end{aligned}$$

This completes the proof .  $\square$

**4- Convex Linear Combination**

In the following theorem , we prove the class  $H(p, \alpha, \beta, \mu)$  is closed under convex linear combination .

**Theorem(4.1):**

Let the function  $f_i$  ( $i = 1, 2$ ) defined by

$$f_i(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_{k,i} z^{k+p}, \quad (a_{k,i} \geq 0, i = 1, 2)$$

be in the class  $H(p, \alpha, \beta, \mu)$  . Then the function  $F$  defined by

$$F(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} (a_{k,1}^2 + a_{k,2}^2) z^{k+p} \tag{6}$$



belongs to the class  $H(p, \alpha, \beta, y)$ , where

$$y \geq \frac{(2(p + \alpha) - 1)[(k + p)(2 - \mu) - \mu\beta + 1]^2 - [2(k + p) + 1][(p + \alpha)(2 - \mu) + \mu\beta - 1]^2}{((p + \alpha) - \beta)[(k + p)(2 - \mu) - \mu\beta + 1]^2 - ((k + p) - \beta)[(p + \alpha)(2 - \mu) + \mu\beta - 1]^2}$$

**Proof :**

We must find the largest  $y$  such that

$$\sum_{k=1-\alpha}^{\infty} \left( \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} \right) (a_{k,1}^2 + a_{k,2}^2) \leq 1$$

Since  $f_i(z) \in H(p, \alpha, \beta, \mu)$ , ( $i = 1, 2$ ), we get

$$\begin{aligned} & \sum_{k=1-\alpha}^{\infty} \left( \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} \right)^2 a_{k,i}^2 \\ & \leq \left( \sum_{k=1-\alpha}^{\infty} \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} a_{k,i} \right)^2 \leq 1, \quad (i = 1, 2) \end{aligned} \tag{7}$$

For  $f_i(z) \in H(p, \alpha, \beta, \mu)$ , ( $i = 1, 2$ ), we have

$$\sum_{k=1-\alpha}^{\infty} \frac{1}{2} \left( \frac{(k + p)(2 - \mu) - \mu\beta + 1}{(p + \alpha)(2 - \mu) + \mu\beta - 1} \right)^2 (a_{k,1}^2 + a_{k,2}^2) \leq 1 \tag{8}$$

But  $F \in H(p, \alpha, \beta, \mu)$  if and only if

$$\sum_{k=1-\alpha}^{\infty} \left( \frac{(k + p)(2 - y) - y\beta + 1}{(p + \alpha)(2 - y) + y\beta - 1} \right) (a_{k,1}^2 + a_{k,2}^2) \leq 1 \tag{9}$$

The inequality (9) will be satisfied if

$$\frac{[(k + p)(2 - y) - y\beta + 1]}{[(p + \alpha)(2 - y) + y\beta - 1]} \leq \frac{[(k + p)(2 - \mu) - \mu\beta + 1]^2}{[(p + \alpha)(2 - \mu) + \mu\beta - 1]^2}, \quad k \geq 1 - \alpha.$$

So that

$$y \geq \frac{(2(p + \alpha) - 1)[(k + p)(2 - \mu) - \mu\beta + 1]^2 - [2(k + p) + 1][(p + \alpha)(2 - \mu) + \mu\beta - 1]^2}{((p + \alpha) - \beta)[(k + p)(2 - \mu) - \mu\beta + 1]^2 - ((k + p) - \beta)[(p + \alpha)(2 - \mu) + \mu\beta - 1]^2}$$

**5- Radius of starlikeness and convexity**

**Theorem(5.1):**

Let  $f \in H(p, \alpha, \beta, \mu)$ . Then the function defined by

$$F(z) = \frac{\lambda}{z^{\lambda+1}} \int_0^z t^\lambda f(t) dt = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda + k + 1} a_k z^{k+p}, \quad \lambda > -1 \tag{10}$$

is meromorphically multivalent starlike in the disc  $|z| < R_1$ , where

$$R_1 = \inf_k \left\{ \frac{[(\lambda + k + 1)(p + \alpha)[(k + p)(2 - M) + M\beta - 1]]^{\frac{1}{k+\alpha+2p}}}{\lambda(k + 2\alpha + 3p)[(p + \alpha)(2 - M) - M\beta + 1]} \right\}, \quad n \geq 1 - \alpha \tag{11}$$

**Proof:**

We show that

$$\left| \frac{zF'(z)}{F(z)} + (p + \alpha) \right| \leq (p + \alpha) \quad \text{in } |z| < R_1. \tag{12}$$

$R_1$  is given by (11), in view of (10), we have



$$\left| \frac{zF'(z) + (p + \alpha)F(z)}{F(z)} \right| = \left| \frac{-(p + \alpha)z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)a_k z^{k+p} + (p + \alpha)z^{-(p+\alpha)} + (p + \alpha) \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} a_k z^{k+p}}{z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} a_k z^{k+p}} \right|$$

$$= \left| \frac{\sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} [k + \alpha + 2p] a_k z^{k+p}}{z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} a_k z^{k+p}} \right| \leq \frac{\sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} [k + \alpha + 2p] a_k |z|^{k+\alpha+2p}}{1 - \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} a_k |z|^{k+\alpha+2p}}.$$

Then (12) be satisfied if

$$\sum_{k=1-\alpha}^{\infty} \frac{\lambda(k + 2\alpha + 3p)}{(\lambda + k + 1)(p + \alpha)} a_k |z|^{k+\alpha+2p} \leq 1 \tag{13}$$

Hence, by Theorem(2.1),(13) will be true if

$$\frac{\lambda(k + 2\alpha + 3p)}{(\lambda + k + 1)(p + \alpha)} |z|^{k+\alpha+2p} \leq \frac{[(k+p)(2-M) + M\beta - 1]}{[(p + \alpha)(2-M) - M\beta + 1]}$$

or equivalently

$$|z| \leq \left\{ \frac{(\lambda + k + 1)(p + \alpha)[(k+p)(2-M) + M\beta - 1]}{\lambda(k + 2\alpha + 3p)[(p + \alpha)(2-M) - M\beta + 1]} \right\}^{\frac{1}{k+\alpha+2p}}$$

For  $k \geq 1 - \alpha$ , The result follows by setting  $|z| = R_1$ .

**Theorem(5.2):**

Let the function  $f$  given by (2) be in the class  $H(p, \alpha, \beta, \mu)$ . Then the function  $F$  defined by (10) is meromorphically multivalent convex in the disc  $|z| < R_2$ , where

$$R_2 = \inf_k \left\{ \frac{(\lambda + k + 1)(p + \alpha)[(k+p)(2-M) + M\beta - 1]}{\lambda(k+p)(k+p+1)[(p + \alpha)(2-M) - M\beta + 1]} \right\}^{\frac{1}{k+\alpha+2p}}, \quad n \geq 1 - \alpha \tag{14}$$

**Proof:**

It is sufficient to show that

$$\left| \frac{zF''(z)}{F'(z)} + (p + \alpha + 1) \right| \leq (p + \alpha) \quad \text{in } |z| < R_2 \tag{15}$$

In view of (10) we have

$$\left| \frac{zF''(z) + (p + \alpha + 1)F'(z)}{F'(z)} \right|$$

$$= \left| \frac{(p + \alpha)(p + \alpha + 1)z^{-(p+\alpha+1)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)(k+p-1)a_k z^{k+p-1} + (p + \alpha + 1) \left[ -(p + \alpha)z^{-(p+\alpha+1)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)a_k z^{k+p-1} \right]}{-(p + \alpha)z^{-(p+\alpha+1)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)a_k z^{k+p-1}} \right|$$

$$= \left| \frac{\sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)(k + \alpha + 2p)a_k z^{k+p-1}}{-(p + \alpha)z^{-(p+\alpha+1)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)a_k z^{k+p-1}} \right| \leq \frac{\sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)(k + \alpha + 2p)a_k |z|^{k+\alpha+2p}}{-(p + \alpha)z^{-(p+\alpha+1)} + \sum_{k=1-\alpha}^{\infty} \frac{\lambda}{\lambda+k+1} (k+p)a_k |z|^{k+\alpha+2p}}$$

Then (15) be satisfied if

$$\sum_{k=1-\alpha}^{\infty} \frac{\lambda(k+p)(k + 2\alpha + 3p)}{(\lambda + k + 1)(p + \alpha)^2} a_k |z|^{k+\alpha+2p} \leq 1. \tag{16}$$

Hence, by Theorem (2.1),(16) will be true if

$$\frac{\lambda(k+p)(k + 2\alpha + 3p)}{(\lambda + k + 1)(p + \alpha)^2} |z|^{k+\alpha+2p} \leq \frac{[(k+p)(2-M) + M\beta - 1]}{[(p + \alpha)(2-M) - M\beta + 1]}.$$

or equivalently

$$|z| \leq \left\{ \frac{(\lambda + k + 1)(p + \alpha)^2[(k+p)(2-M) + M\beta - 1]}{\lambda(k+p)(k + 2\alpha + 3p)[(p + \alpha)(2-M) - M\beta + 1]} \right\}^{\frac{1}{k+\alpha+2p}},$$

for  $k \in \mathbb{N}$ ,  $k \geq 1$ , The result follows by setting  $|z| = R_2$ .



## 6- Neighborhoods properties

In the following the earlier work on neighborhoods of analytic functions by Goodman[3] and Ruscheweyh[5] for the elements of several famous subclasses of analytic functions and Altıntaş and Owa[1] considered for a certain family of analytic functions with negative coefficients, also Liu and Srivastava[4] and Atshan[2] extended for a certain subclass of meromorphically univalent and multivalent functions .

We define the  $\delta$  –neighborhood of function  $f \in \Sigma_{p,\alpha}$  by

$$N_\delta(f) = \left\{ g \in \Sigma_{p,\alpha} : g(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} b_k z^{k+p} \text{ and } \sum_{k=1-\alpha}^{\infty} k |a_k - b_k| \leq \delta, 0 \leq \delta < 1 \right\} \quad (17)$$

For the identity function  $e(z)=z$ , we have

$$N_\delta(e) = \left\{ g \in \Sigma_{p,\alpha} : g(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} b_k z^{k+p} \text{ and } \sum_{k=1-\alpha}^{\infty} k |b_k| \leq \delta \right\} \quad (18)$$

### Definition(2):

A function  $f \in \Sigma_{p,\alpha}$  is said to be in the class  $H^\theta(p, \alpha, \beta, \mu)$  if there exists a function  $g \in H(p, \alpha, \beta, \mu)$  such that  $\left| \frac{f(z)}{g(z)} - 1 \right| < 1 - \theta$ ,  $(z \in U, 0 \leq \theta < 1)$

### Theorem(6.1):

If  $g \in H(p, \alpha, \beta, \mu)$  and

$$\theta = 1 - \frac{\delta(1+p)(2-\mu) - \mu\beta + 1}{(1-\alpha)[(2-\mu)((1+p) - (p+\alpha)) - 2(\mu\beta - 2)]} \quad (19)$$

Then  $N_\delta(g) \subset H(p, \alpha, \beta, \mu)$  .

### Proof:

Let  $f \in N_\delta(g)$  .Then we find from (17) that

$$\sum_{k=1-\alpha}^{\infty} k |a_k - b_k| \leq \delta,$$

which implies the coefficient inequality

$$\sum_{k=1-\alpha}^{\infty} |a_k - b_k| \leq \frac{\delta}{1-\alpha}, \quad (20)$$

Since  $g \in H(p, \alpha, \beta, \mu)$  , then by using Theorem (2.1), such that

$$\sum_{k=1-\alpha}^{\infty} a_k \leq \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(1+p)(2-\mu) - \mu\beta + 1},$$

We have

$$\sum_{k=1-\alpha}^{\infty} b_k \leq \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(1+p)(2-\mu) - \mu\beta + 1} \quad (21)$$

Using (20) and (21), we get

$$\left| \frac{f(z)}{g(z)} - 1 \right| < \frac{\sum_{k=1-\alpha}^{\infty} |a_k - b_k|}{1 - \sum_{k=1-\alpha}^{\infty} b_k} \leq \frac{\delta(1+p)(2-\mu) - \mu\beta + 1}{(1-\alpha)[(2-\mu)((1+p) - (p+\alpha)) - 2(\mu\beta - 2)]} = 1 - \theta$$

Hence , by Definition(2)  $f \in H(p, \alpha, \beta, \mu)$  for  $\theta$  given by (19) .

## 7- Arithmetic mean

In the next theorem ,we will prove the arithmetic mean property .

### Theorem(7.1):

Let  $f_1(z), f_2(z), \dots, f_n(z)$  defined by



$$f_i(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_{k,i} z^{(k+p)} \quad , k \geq 1 - \alpha, a_{k,i} \geq 0, i = 1, 2, \dots, l \quad (22)$$

be in the class  $H(p, \alpha, \beta, \mu)$ . Then the arithmetic mean of  $f_i(z)$   $i = 1, 2, \dots, l$  defined by

$$h(z) = \frac{1}{l} \sum_{i=1}^l f_i(z) \quad (23)$$

is also in the class  $H(p, \alpha, \beta, \mu)$ .

**Proof:**

By (22)&(23) ,we can write

$$\begin{aligned} h(z) &= \frac{1}{l} \sum_{i=1}^l \left( z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_{k,i} z^{(k+p)} \right) \\ &= z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \left( \frac{1}{l} \sum_{i=1}^l a_{k,i} \right) z^{(k+p)} . \end{aligned}$$

Since  $f_i \in H(p, \alpha, \beta, \mu)$  for every  $(i = 1, 2, \dots, l)$  so by using Theorem (2.1), we prove that

$$\begin{aligned} &\sum_{k=1-\alpha}^{\infty} [(k+p)(2-\mu) - \mu\beta + 1] \left( \frac{1}{l} \sum_{i=1}^l a_{k,i} \right) \\ &= \frac{1}{l} \sum_{i=1}^l \left( \sum_{k=1-\alpha}^{\infty} [(k+p)(2-\mu) - \mu\beta + 1] a_{k,i} \right) \\ &\leq \frac{1}{l} \sum_{i=1}^l [(k+p)(2-\mu) - \mu\beta + 1] \\ &= [(k+p)(2-\mu) - \mu\beta + 1] \end{aligned}$$

The proof is complete .□

**8- Extreme points**

Now, we obtain the extreme points of the class  $H(p, \alpha, \beta, \mu)$ .

**Theorem(8.1):**

Let  $f_{-\alpha+p} = z^{-(p+\alpha)}$  and

$$f_{k+p}(z) = z^{-(p+\alpha)} + \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1} z^{k+p} \quad , \quad (24)$$

for  $k=1-\alpha, 2-\alpha, \dots$ . Then  $f \in H(p, \alpha, \beta, \mu)$  if and only if it can be expressed in the form

$$f(z) = \sum_{k=-\alpha}^{\infty} \mu_{k+p} f_{k+p}(z) \quad (25)$$

where  $\mu_{k+p} \geq 0$  and  $\sum_{k=-\alpha}^{\infty} \mu_{k+p} = 1$ .

**Proof:**

Let  $f(z)$  can be expressed as in (25) . Then

$$f(z) = \sum_{k=-\alpha}^{\infty} \mu_{k+p} f_{k+p}(z)$$

where  $\mu_{k+p} \geq 0$  and  $\sum_{k=-\alpha}^{\infty} \mu_{k+p} = 1$ . Then

$$f(z) = \mu_{-\alpha+p} f_{-\alpha+p}(z) + \sum_{k=1-\alpha}^{\infty} \mu_{k+p} f_{k+p}(z)$$



$$\begin{aligned}
 &= \mu_{-\alpha+p} z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \mu_{k+p} \left( z^{-(p+\alpha)} + \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1} z^{k+p} \right) \\
 &= z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1} z^{k+p} \\
 &= z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} u_{k+p} z^{k+p} \\
 &\text{Where } u_{k+p} = \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1}
 \end{aligned}$$

By Theorem (2.1), we have  $f \in H(p, \alpha, \beta, \mu)$  if and only if

$$\sum_{k=1-\alpha}^{\infty} \frac{(k+p)(2-\mu) - \mu\beta + 1}{(p+\alpha)(2-\mu) + \mu\beta - 1} u_{k+p} \leq 1$$

For

$$f(z) = z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} u_{k+p} z^{k+p}$$

Hence

$$\begin{aligned}
 &\sum_{k=1-\alpha}^{\infty} \frac{(k+p)(2-\mu) - \mu\beta + 1}{(p+\alpha)(2-\mu) + \mu\beta - 1} \times \mu_{k+p} \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1} \\
 &= \sum_{k=1-\alpha}^{\infty} \mu_{k+p} = 1 - \mu_{-\alpha+p} \leq 1 \quad .
 \end{aligned}$$

**Conversely**, assume  $f \in H(p, \alpha, \beta, \mu)$ . Then, we show that  $f$  can be written in the form :

$$f(z) = \sum_{k=-\alpha}^{\infty} \mu_{k+p} f_{k+p}(z)$$

Now,  $f \in H(p, \alpha, \beta, \mu)$ , implies from Theorem (2.1)

$$a_{k+p} \leq \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1} .$$

$$\text{Setting } \mu_{k+p} = \frac{(k+p)(2-\mu) - \mu\beta + 1}{(p+\alpha)(2-\mu) + \mu\beta - 1} a_{k+p} \quad , \quad k = 1 - \alpha, 2 - \alpha, \dots \text{ and}$$

$$\mu_{-\alpha+p} = 1 - \sum_{k=1-\alpha}^{\infty} \mu_{k+p}$$

$$\begin{aligned}
 \text{Then } f(z) &= z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} a_{k+p} z^{k+p} \\
 &= z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \frac{(p+\alpha)(2-\mu) + \mu\beta - 1}{(k+p)(2-\mu) - \mu\beta + 1} \mu_{k+p} z^{k+p} \\
 &= z^{-(p+\alpha)} + \sum_{k=1-\alpha}^{\infty} \mu_{k+p} (f_{k+p} - z^{-(p+\alpha)}) \\
 &= z^{-(p+\alpha)} \left( 1 - \sum_{k=1-\alpha}^{\infty} \mu_{k+p} \right) + \sum_{k=-\alpha}^{\infty} \mu_{k+p} f_{k+p} \\
 &= z^{-(p+\alpha)} \mu_{-\alpha+p} + \sum_{k=1-\alpha}^{\infty} \mu_{k+p} f_{k+p} \\
 &= \sum_{k=-\alpha}^{\infty} \mu_{k+p} f_{k+p}(z)
 \end{aligned}$$

The proof is complete. □





## References

- [1] O. Altintas and S. Owa , Neighborhoods of certain analytic functions with negative coefficients ,Int. J. Math. Sci. ,19(1996), 797-800 .
- [2] W. G. Atshan ,Subclass of meromorphic functions with positive coefficients defined by Ruscheweyh derivative II , J. Surveys in Mathematics and its Applications, 3(2008) , 67-77 .
- [3] A. W. Goodman, Univalent functions and non-analytic curves, Proc. Amer. Math. Soc. , 8(1975), 598-601 .
- [4] J. L. Liu and H. M. Srivastava, A Linear operator and associated families of meromorphically multivalent functions, J. Math. Anal. Appl. 259(2001), 566-581 .
- [5] S. Ruscheweyh, Neighborhoods of univalent functions, Proc. Amer. Math. Soc. , 81(1981), 521-527 .

